Homework

Holiday



Dear Parents,

Vacation is a time to reinvigorate and revive,
however the duties of a student must not be
forgotten either. A balance, therefore, recreation
and work must be found to ensure a break that is
productive as well as relaxing. The holiday
homework has been shared to keep the children
indulged in the learning process. Do ensure the
child is involved with your guidance

Learning outcomes:
* The students will be able enhance their general

awareneqs .
* develop their obgervational gkille.
* apply the knowledge in their daily life.




English

Instructions:
e Groups are made to complete the project works
e Give your best n presentable projects.
e Projects are based on experiential learning.
As per discussion in class, the following homework is assigned for students-

* To prepare a 3D comic booklet of stories.

* Digital album- Create a digital movie based on text.
* prepare a model of a few lessons

* make an animated film of the lessons

* create e-magazine for the school

* Design activities & games based on chapters
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Mathematics

* Find the roots of the following quadratic equations - i3 ST AT
by the factorisation method (1 - 16) ; b e kL

x -1 x+1 o [CBSE 1) Lic
I The sum of two numbers is 9 and the sum of
their reciprocals is ; Find the numbers.

[CHSE D 12

1, 2t =5x+3=0 INCERT]
f d The product of two successive multiples of 3

6x _x__z 0 IN(.F‘RT] is 180. Determine the numbers.,
“' Wi | [ 40. Divide 51 into two parts whose product is 378
' 41. The sum of the ages of a boy and his sister
Sl "2‘\[-x+2 0 } i [NCERT] y (in wyears) is 25 angd product Z)f their ages is
! { 150. Find their present ages. ICBSE 22
3 _49 i it i 42. A man is three times as old as his son and six
‘ (2)."‘ ) ey 1 1 years ago the product of their ages was 28s.

] i ! Find their present ages.

R 3x2 _243 =0 R AT H ks i 43. One year ago, the father was 8 times as old as

e T | his son. Now his age is the square of his son’s

6 x2 x 110 _0 HHh il AL i age. Find their present ages. ICBSE 1994)
- - | P

HHIHH 44. A two digit number is such that the product

it 1 of the digits is 14. When 45 is added to this

I e e * number, the digits interchange their places.

i [CBSE SP 21 ] Find the number. [CBSE 20)]

‘ HH 45. The sum of the digits of a two-digit number is

9. If 27 is subtracted from the number, the
digits are reversed. Find the number.

[TBSE D 97C]

46. The speed of a boat in still water is 8 ken/h. It

can go 30 km upstream and 44 km dowr-

stream in 10 hours. Find the speed of the
sStream.

7. 472410 = 0“‘,
8.9 —27x+14 0‘
9, 3x +2J‘x 5=0
10. 5x —2«/—x+3-

it ESS AL o M e ?c‘fu"é‘é";;m, 10]  15. Itis given that HCF (504, 2200) =8, then fing

1 b LCM (504, 2200). [CBSE 20c)
i irrational number. o
S e T e [CBSE 2010]  16. The numbers 525 and 3000 are divisible only
i irrational by 3, 5, 15, 25 and 75.
7. that the following are irrationa '
E’\:lor:\iers : What is HCF (525, 3000) ? Justify your
(@) 3-+5 [CBSE 2011] answer. [Exemplar Problem]
(ii) 25 -3 [T ) 17. Can two numbers have 18 as their HCF and
(iii) 7+3+2 [CBER 0N 380 as their LCM ? Give reasons.
(iv) 3+5v2 sl [Exemplar Problem]
| Find a quadratic polyrnomiial each with the givern
s T e B | Solve the following system of linear
B s s At =% == e > e Ty TN PRI YV S P ST P s SP Tt e EEM) X
def gl | G gshani. equations graphically :
iilaalipsin il By Bt %
b i bty lirsiirit 2x-3y =17 =0, 4x+y-13=0,
T | |l lteese seos) Shade the region between the lines and
i e T B e sl f‘::ep‘}‘i;;‘gg;% yoaxis. (Bt
o = 3= i |
i hindg ?:an'a"e;fi;ﬁ‘:np p"f.‘l‘,’:“:,ﬁ,i‘afiiofe‘ 2. Bolve graphically :

=Zeroes are 2-a. arld 2B i [NCI’ 2010] || ||

18. If o.B are the zerce L of t}:e polynomial: ar—sy 319' 3y-7x #l .o, il\ BSE
x2 2 —8, therufornn 4 quadraﬁc {)gé)éxéozrg.ig; ! d ‘ nd “w h, M
w}\osezeroesaresaand:'lﬁ. |1 R 1 3 ween
19. If o. B are the Zzeroes of tl'\e po:lynormaif wve m‘ph‘m"y an ! ms
x% —x —2, then find a quadratlc pqdynorpia.lg w two "m .
whose zexoesare( +l)!and. (zp+1), N

l20‘ If o, B are zeroes. Of the polynomial x2 -

then form a quadratic  polymomia 4y ¢3v =9, 3 —‘y =13
zeroes are 3o + 58 and | 5a+3b_ .

4 TOSS the Iy nomial 3: . ﬂ l
iz g‘z‘ﬁz;:’::e a zqtoxfadragg pcnlynom:f 1 wwhose 4 &“\’t‘ gt&[\luﬂ"y ‘“d w area Of d!

TREORS Adi S EET s ) triangle formed by x-axis and these lines :
i mial HOT
el 2‘,’2‘2(‘;‘::3“1‘;‘%?&? 5‘2‘;’2’,’;‘1"“ P v-y+1=0 3r+2y-12=0  {CBSE 2]

'_k,ifcz-»Bsotﬁ i




| st for < yezo — aa =
10. y—4x =1; 6x—5y =9 INCT 17]

1. 47 x+31y =63 ; 3lx+ 47y =15 i ; m Bnphi“uy : 2x-3y .)’ 3""3'1'
:2, 148x +231y = 527 ;231 +Z4_8y =61OICBSE e 4 Does the point(3,2)lie on any one of the two
N e e lines ? Give the equation also.

& v s CBSE 10
s Remyms §+4yy=5 R . Show graphically the following system of
1s. o ﬁgurejc ABCD is a rectangle. Find the equations has infinite solution :
vam:fdxandi}y e | 2y=4x-6, 2x=y+3
_,I Icm 7 Check graphically whether the pair of linear
i . 1L | equations : x+3y =6 ; 2x -3y =12
16. In the figure bel::vf:BCDis a;arallelogram. I k mt’ lf wl solve m yﬂPthﬂny.
Find the values of x and y. [CBSE 10] [NCER"
5. Solve graphically and shade the area bounded =
by these lines and y-axis '

3x+y-11=0,x~y~1=0. [CBSE 023

Eor whht t}diucs of k oF 13, _;vﬂi the jbltowirig Iﬂty;s of’
Firnrear equations fiave ,trit:nfft ;olutlonef (17 — 19) 7.

17. x—ky =2 ; B3x+2y =—5
18. 4x + py +8 =0 ; 2x+2y+2 =0 [CBSE SFP 21}

19. 2x+ ky =1 ; 3x -5y =7. [CBSE 10]
Por woliat -valuas i MII ’H;e ﬁ:ﬂto:uing sys?emd",lmw

20. le+5y (k 5)=0 :; 20x+10y—k=0
[CBSE D 08]

21. 2x+3y =4 ; (k +2)x+ 6y =3k +2
[CBSE 10]

22 kx+y=kZ; x+ky=1 [CBSE SP 18]

sl oy e
i e'fz‘*'liifi :[ii:“?f‘.?hﬁfl 11931 .“,H! il i : !

> 3x+y=1;(2k—1)x+(k—1)y=2k+1 [CBSE 11]

niiiinjyll .-!%‘féé“ 1% s ig |
ﬁt“’ 'TP \»stm.rﬁﬁnl”nﬁ!ufﬁf.!:i

25 Z2x—(a—4A))y =2b+1 ; 4x —(a—1)y =56—1.
[CBSE 10]

26. (22a—1)x+3y —5 =0 ;3x+(Lb—1)y—2 =0
[CBSE 10]

27. (a+b)x—2by =5S5a+2b+1 ; B3x—y =14

[CBSE 10]




Science

Physics

1-What is difference between Reflection and Refraction
2-what is cause of refraction

3-What is refractive index.What is it's S.l.unit?

4-Draw diagram on chart paper

a)Image information for various position of image in case when object is placed at different
position in case of Concave mirror.

b) various position of image in case when object is placed at different position in case of
convex lens.

5-ht.of object -2cm Object distance-10 cm Radius of curvature -30cm
In case of Concave mirror, find image height.

6-What do you mean by Power of Lens . A Concave mirror has focal length 20 cm, find Power
of Lens

Chemistry

1.PROJECT: Make a working model of activity- 1.7(electrolysis of water) at your home using
waste.

2. Answer the intext questions and exercise questions of chapter 1 in homework copy

3. Memorise the common ions from the chart which is provided to you, and write 30 formula
and name of common compounds from the chart.

Biology
1. Project:- make a model of anyone using waste material or clay.
i. Digestive system of human
ii. Human heart
iii. Human kidney
iv. Human lungs
2. Practical:-Write all experiments in practical record.
A. To check the presence of starch in leaf.

B. To demonstrate that we release release carbon dioxide during respiration.




Social Science

Biological or biohazards can cause devastating effects on society and environment making
generations

of a nation vulnerable to it. Select any one such disaster and prepare a report on the
following aspects

of the disaster:

i)Basic characteristics and Level (epidemic or pandemic) (ii) Unicode or biohazard symbol
(iii) Involvement of nodal agencies (iv) Legislations (v) Responsibility sharing (vi)
Occupations /workplace where people may come into contact (vii) Prevention and control
measures (viii) Detection and containment of outbreak (ix) Any other relevant information
pertaining to the disaster. Students can use newspaper clippings, photographs, maps,
diagrams etc. as illustrations.

OBJECTIVES:

To develop skills to comprehend, analyze, interpret and evaluate evidences.

To communicate data in the most appropriate form using a variety of techniques.

To grow into caring, sensitive individuals capable of making informed, intelligent and
independent choices.

The project work can culminate in the form of Charts and albums.

MAP WORK: Students are required to complete the list of maps as per the syllabus
covered and compile the same in a file

[-RISE OF NATIONALISM IN EUROPE
UNIFICATION OF ITALY/ UNIFICATION OF GERMANY.

The assignment has to be prepared of 4-5 pages on the Unification of Italy or Unification
of Germany. The assignment must include the reasons for the unification and nationalism
within these nations and how the unification brought changes and revolutions in the
whole of the European countries.

LEARNING OUTCOMES:
Recognizes the role of Otto Van Bismarck in the unification of Germany.
Observes the map of Italy and understand the various developments responsible for the

unification of Italy.




The assignment must include the following:

1) Index

2) Maps

3) Pictures of Unification

4) A good web search of Unification of Italy /Unification of Germany.
2- CIVICS :-

-Take the example of your own state or any other state that was affected by linguistic
reorganisation.Write a short note on it.

- Has your village or town remained under the same States since independence ? If not
what was the name of the earlier state.

ECONOMICS
Q1. Give three examples where an average is used for comparing situations .

Q2. Write a paragraph on your nation of what should India do or achieve to become a
developed country .

Q3. Calculate your BMI .







